22(C)/0S UG-III/Comm.-VI(H)/OS/21

2021

COMMERCE

[HONOURS]
(Auditing and Financial Management)
Paper : VI
[OLD SYLLABUS]
Full Marks : 100 Time : 4 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

GROUP-A
fTeie-+

(Auditing)

(et =)

(Marks : 50)

(N ¢ @o)

1. Answer any two questions: 1x2=2
@@ v omE Ted e g
1)  What is Auditing-in-depth?

sfel e a7 e

i1)  What do you mean by audit notebook?

[Turn over]

AR (@692 wiee F (@Rl
iii)) What is test checking?
T 2w Fhe

iv)  What is Error of Principle? Explain with

the help of an example.

qfomete a1 Fie 9T Twmaed Fee
(e |

2. Write short notes on any five of the following
items: 2x5=10

fasfafis Ranefem g @ @@ oo e e
e IRGE

i)  Internal Control
el e

i1) Interim Dividend
EESICSIS

i11) Propriety Audit
Fiefel R

iv) Cost Audit

v) Internal Audit

Srerede NI
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Vi)

Partial Audit
CINESIR DR

vii) Routine Checking

i o1

3. Answer any three questions: 6x3=18

@-@FE foxft amz Teq wie

i)

iii)
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Briefly describe the preparatory steps to
be taken by the auditor before the

commencement of a new audit.
a3 Tga AT wwE IR Wi

e @ @ gefoes J»! a7 FA00 27,
©f AL el 9|

Discuss briefly the types of frauds found
at the time of auditing. What are the duties
of an auditor in this regard? 3+3=6

R TR @ @ AR ERR ¢l A el
FEFeel I T Q@ P WA WRPTE
e

Describe  the  qualifications and
disqualifications of an auditor according to
the Companies Act. 2+4=6

Il wiige SR G R @ieel
€ el I F9|

[3] [Turn over]

What is Internal Check System? To what
extent can an auditor depend upon internal
check system? 2+4=6

Sreredd Tas I Fe 9IFew WIwS

o

gl [aEs BT 8oq Tl Foq Face
ACIN 2

v)  Briefly describe the effective internal check
system for cash sales in a large
departmental store.

@36 g2 e [Refdice @sm Rewm @w
I ey FaEs w9z Aewee 3
4|

4. Answer any two questions: 10x2=20

@~ 7o deE Tex wie e

i)
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Mention the provisions of the Companies
Act regarding the declaration and payment
of dividend.

TN (TR € Wi FE (@A B
Ruivefem TEe 91

Write short notes on: 5x2=10
T S @Y g

a)  Management Audit
RIREGCIRCEIC]
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iif)
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b)  Social Audit
Afes s

Define Auditing. Give your views on the
advantages of audit of the accounts of a

business to

a) the business itself,

b) the owners of the business, and
c) other parties.

Mention in brief the limitations of audit.
2+(2+2+2)+2=10

frFiicag kel wie | e TR NErER
Bk

JF) JARA
) FNERE AFCHT @
9) S SieER S IR =,

G ™9 (ST SeINe wie | wassig
epjfREafe] W Trgd 9

a)  What is an audit programme?
eI RO 2

b) What are the objects of an audit

programme?
a3 AT FREDE Srw el e
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c) What are its disadvantages and how
can they be overcome?
3+3+(2+2)=10

a7 sPffiafel F @R TR EIREE
o 4 T2

GROUP-B
feeret-4
(Financial Management)
(et r=gi=it)
(Marks : 50)

(N ¢ @o)

5.  Answer any two questions: 1x2=2

@~ g 2o Ted wie

i)

iif)
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What do you mean by working capital
cycle?

el Jeiee SIS IS F (N2

What is Funds Flow Statement?

Fom exie R e

What do you mean by financial

management?

IfLF FIZAT IS I @R?
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v)
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What do you mean by long-term capital in

business?

IR AR A A0S R 2

6.  Write short notes on any five of the following
items: 2x5=10
fasferiee Rrmefm s @-@ie sfofa esw iy
HalGEi
i)  Cash Flow Statement
s ey Rl

i1)  Contribution
EEIGE|

iii) Functional Budget
FRifefes Amen

iv)  Break-even-point
SRR el [

v)  Trading on Equity
GRex = 3930

vi)  Working Capital
LI GRT

vii) Liquid Ratio

O eAre
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7. Answer any three questions: 6x3=18

- Toulo amiw T wie ¢

i)
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State the impact of the following

transactions on Current Ratio and Liquid

Ratio:

PEISACE G SEU S EG IS DR I ER BRI IR

@Rl F geld @E o @1 ¢

a) Cash Collection from Customers
(FOlMe 2 (A AET SMR

b) Payment to creditors

CFeGImE el ooy

c) Payment of Dividend
STOfI* &nle

d) Purchase of Goods on credit
il T @

e) Goods sold for cash with profit and
dle (el oo [ @7

f)  Redemption of preference shares
walifesiE R oA

On the basis of the following information

you are required to ascertain:

a) Break-even Sales

b) Sales required to earn a profit of
Rs.60,000 if selling price per unit is
reduced by Rs. 1.



Sales (10,000 units) Rs.1,60,000
Variable Cost Rs.96,000
Fixed Cost Rs.48,000
[ZA& e e (]

ii1) Describe the functions of Financial
Management.
T TR SO 9T T

iv)  What is budget? What do you mean by
budgeting control? How are these two
related with each other? 2+2+2=6
ACeT F2 ACEoefed TRl @e N O@R?
G2 qoa W& AR TR e

v) a) Define: 'Break-even Point' and 'Profit

Volume Ratio'.
e e ¢ SR-GEA el [ G
TR Ao |

b) What is the effect of the following
on 'Break-even Point' and 'Profit
Volume Ratio":
fsfeiiee frmefm wR-gEE el g
G YARF-RER Afl-SReie’-as Boe
I geR (T ¢
'Increase in number of units sold' and

'Decrease in total fixed cost'.

(2+2)+2=6
e e IR @R TE 77 I
gt
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8.

AW N~

Answer any two questions: 10x2=20

@~ g 2o Tew wie s

i) A factory is currently running at 50%
capacity and produces 5000 units at a cost

of Rs.90 per unit as per details below:

Rs.
Materials 50
Labour 15

Factory Overhead 15 (Rs.6 fixed)
Administrative Overhead 10 (Rs.5 fixed)
The current selling price i1s Rs.100 per unit.
At 60% working, material cost per unit
increases by 2% and selling price per unit
falls by 2%. Estimate the profit of the
factory at 60% capacity.
[ZA& e e (]
i1) From the following data relating to a firm,
prepare the Balance Sheet of the firm as at
31st December, 2017:

Rs.
Annual Sales 36,00,000
Sales to Net worth 4 times
Current (liabilities) to Net worth 50%
Total Debts to Net worth 80%
Current Ratio 3:1
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Sales to Inventory 6 times
Average Collection Period 73 days
Fixed Assets to Net worth 30%
[2A& e e (]

111) Balance Sheets of Young India Ltd. as on
31.03.2017 and 31.03.2016 (Figures are in
Rs.1,000):

Balance Sheet

Liabilities 31.03.2017|31.03.2016 | Assets 31.03.2017 | 31.03.2016
Rs. Rs. Rs. Rs.

Equity Shares
(Rs.10 each) 4,300 4,000 |Building 2,500 2,500
Profit & Loss A/c 640 980 | Machinery 2,000 1,600
10% Debentures 2,050 2,200 | Prepaid Expenses 65 80
Trade Creditors 650 800 |Inventory 1,400 1,550
Provision for
taxation 125 100 | Debtors 800 650
Depreciation on
Building 600 500 |Cash & Bank 400 600
Depreciation on
machinery 300 200

8,665 8,780 8,665 8,780

Additional Information:

a)

b)
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Dividend paid during the year
Rs.4,50,000.

Land was sold for cash at a profit of
Rs.50,000.
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c) Machinery costs Rs.2,00,000 (W.D.V.
Rs.40,000) was sold for Rs.30,000.
Also machinery costing Rs.6,00,000
was purchased.

d) Amount transferred to provision for
taxation during the year was
Rs.1,60,000.

Prepare a Cash Flow Statement for the year

ended 31.03.2017.

[Zca&l e o]
iv) Compute

a) Labour Cost Variance

b) Labour Efficiency Variance

c) Labour Rate Variance and

d) Idle Time Variance

from the following information:

Rs.
Payment for wages 19,800
Hours worked 8,800
(uncluding 200 hours remained as idle)
Units produced 4,000
Standard Labour Time Per Unit 1.5 hours
Standard Labour Rate Rs.2 per hour
[ZA& e e (]
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